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1. (d)9 × 182 + 14 ÷ 67 – 33 = 151

Option 'd' used

 9 × 182 ÷ 14 + 67 – 33 = 151

 9 × 13 + 67 – 33 = 151

 117 + 67 – 33 = 151

 184 – 33 = 151

 151 = 151 (L.H.S = R.H.S)

2. (b) P SO HL I

K HL SO R

11 + 12 + 15 + 18 + 8 + 19
= 83 + 6 (no of letters) = 89

C L I

X O R R

P

24 + 15 + 18 + 11 = 68 + 4
(no of letters) = 72

Similarly,

R O

I L

C O N

X L M G

T L

O

24 + 12 + 13 + 7 + 9 + 12 +
15 = 92 + 7 (no of letters)

= 99

3. (c) (7, 340, 3)

 (7)3 – 3

 343 – 3 = 340 (Middle term)

(4, 63, 1)

 (4)3 – 1

 64 – 1 = 63 (Middle term)

Similarly,

(3, 23, 4)  (3)3 – 4

 27 – 4 = 23 (Middle term)

4. (a)

A

G H

B

E

DC 23

18
F

5
18

10

9

28

Distance between H and F
= 20m

5. (d) 121,101 , 112, 92, 103, , 83 94 

–20 +11 –20 +11 –20 +11
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6. (b)

37th

13th

17
th

Left 
Right 

Kiran

37–13=24
th

Soumya

 Total no of person in the row =
Rank of Soumya from the left
end + Rank of Soymya from
the right end -1

 17 + 24 – 1 = 40

7. (b) G J M

C F I

–4 –4 –4

L O R

H K N

–4 –4 –4

Similarly,

Q T W

M P S

–4 –4 –4

8. (a) Z E G

C Z K

+3 –5 +4

G U O

+4 –5 +4

L P S

+5 –5 +4

R K W

+6 –5 +4

9. (c) 19, 23, 26, 30, 33, 37

+4 +3 +4 +3 +4

10. (b) H  J  N  U

+2 +4 +7

A C  G  N

+2 +4 +7

P  R  V  C

+2 +4 +7

T  X  B  G

+4 +4 +5
(odd)

11. (b) Son
H

Brother
I

Father
J

Brother
K L

+ + + +

Father

12. (a)

13. (a)

14. (b) P

D

Y

Daughter

Daughter

Maternal

grand
mother

M

W

–

–

–

Mother

15. (a)

Rahul

Ram

Sonu

Sohan
Monu

R
am

es
h

S
a
h
il

16. (a) A N T

Y M R

–2 –1 –2

W L P

–2 –1 –2

U K N

–2 –1 –2

S J L

–2 –1 –2

Q

P

–1

O

–1

N

–1

M

–1

17. (d) P

G

F

18. (b)
R

M

S

19. (a)

20. (c) 50, 39, 27, 14, 0, –15

–11 –12 –13 –14 –15

21. (c)

22. (d)

23. (b) K A N P U

J B M Q T

–1 +1 –1 +1 –1

R

S

+1

Similarly,

B O M B A

A P L C Z

–1 +1 –1 +1 –1

Y

Z

+1
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24. (a)  

O Z F M M A

A N NN U A L

OPP.

O V I I Z Y

B A R R E L

OPP.

Similarly,

V O G G L Y

B O T T L E

OPP.

25. (c)

B-GENERAL AWARENESS
26. (d) motor – electrical energy into

mechanical energy

Generator and dynamo –

mechanical energy into

electrical energy

Transformers – changes

voltage/eksVj & fo|qr ÅtkZ dks ;kaf=kd
ÅtkZ esa cnyuk tujsVj vkSj Mk;useks &
;kaf=kd ÅtkZ dks fo|qr ÅtkZ esa cnyuk
VªkaliQkeZj & oksYVst esa ifjorZu

27. (a) Agnimitra Sunga son of

Pushyamitra sunga (founder

of sunga dynasty) was the

hero of the famous play

“Malvikagnimitra” written by

Kalidas./vfXufe=k 'kqax] iq";fe=k 'kqax
('kqax oa'k ds laLFkkid) ds iq=k] dkfynkl
}kj k fyf•r çfl¼ ukVd
"ekyfodkfXufe=k" ds uk;d FksA

28. (c) “Namdhapha National Park”

is located in Arunachal

Pradesh. It is famous for its

rich biodiversity, including

rare species like the Snow

Leopard, Clouded Leopard,

Red Panda, and Hoolock

Gibbons./"ue/kiQk jk"Vªh; m|ku"
v#.kkpy çns'k esa fLFkr gSA ;g viuh
lè¼ tSo fofo/rk ds fy, çfl¼ gS]
ftlesa fge rsanqvk] cknynkj rsanqvk] yky
ikaMk vkSj gwykWd fxcUl tSlh nqyZHk
çtkfr;k¡ 'kkfey gSaA

29. (b) article 142 of the

Constitution of India gives

the Supreme Court the

power to make orders that

are necessary for

"complete justice" in any

pending case. This

includes the power to

enforce decrees and

orders, and to order

discovery and production

of documents. In simple

terms the supreme court

of India has unlimited

power to deliver justice in

any matter./ Hkkjr ds lafo/ku
dk vuqPNsn 142 lokZsPp U;k;ky;
dks fdlh Hkh yafcr ekeys esa "iw.kZ
U;k;" ds fy, vko';d vkns'k nsus
dh 'kfDr nsrk gSA blesa fMØh vkSj
vkns'kksa dks ykxw djus vkSj nLrkostksa
dh •kst vkSj mRiknu dk vkns'k nsus
dh 'kfDr 'kkfey gSA ljy 'kCnksa esa
Hkkjr ds lokZsPp U;k;ky; ds ikl
fdlh Hkh ekeys esa U;k; nsus dh
vlhfer 'kfDr gSA

30. (b) hydrogen has highest

calorific value among all

the elements known to

human kind which is

approximately 150 kJ/g

(or 142 MJ/kg). The recent

European delegation that

just visited where travelled

in a hydrogen fueled bus

showing India’s lead in

cutting edge technology

and a commitment

towards clean energy./ekuo
tkfr dks Kkr lHkh rRoksa esa gkbMªkstu
dk dSyksjh eku lcls vf/d gS tks
yxHkx 150 kJ/g (;k 142 MJ/

kg) gSA gky gh esa vk, ;wjksih;
çfrfuf/eaMy us gkbMªkstu bZaèku okyh
cl esa ;k=kk dh] tks vR;kèkqfud
rduhd esa Hkkjr dh vxz.kh;rk vkSj
LoPN ÅtkZ ds çfr çfrc¼rk dks
n'kkZrk gSA

31. (a) Balak Miyan saved

Mahatma Gandhi from

being poisoned when he

was leading a revolt in

Champaran on the issue of

Indigo./cyd fe;k¡ us egkRek xk¡èkh
dks tgj fn, tkus ls cpk;k Fkk] tc os
uhy ds eqís ij paikj.k esa foæksg dk
usr̀Ro dj jgs FksA

32. (d) The backwaters of Kerala is

a world famous tourist

destination, famous for its

scenic beauty and below

sea level biodiversity and

rice cultivation./dsjy dk
cSdokVj ,d fo'o çfl¼ i;ZVu LFky
gS] tks viuh çkÑfrd lqanjrk vkSj
leqæ ry ls uhps tSo fofo/rk vkSj
pkoy dh •srh ds fy, çfl¼ gSA

33. (c) Bengal Gazette, also known

as Hicky's Bengal Gazette,

was India’s first newspaper.

It was started by James

Augustus Hicky in 1780 in

Calcutta. The newspaper

was known for its critical

stance against the British

East India Company, which

led to its suppression in

1782./caxky xtV] ftls fgDdh dk
caxky xtV Hkh dgk tkrk gS ;g v•ckj
fczfV'k bZLV bafM;k daiuh ds f•ykiQ
vius vkykspukRed #• ds fy, tkuk
tkrk Fkk] ftlds dkj.k 1782 esa bldk
neu fd;k x;k FkkA

34. (b) Lok Sabha, Rajya Sabha

and president are

inevitable and inalienable

part of parliament of

India./yksdlHkk] jkT;lHkk vkSj
jk"Vªifr Hkkjr dh laln ds vifjgk;Z
vkSj vfoHkkT; vax gSaA

35. (d) Acids always shows PH

value of below 7 on a PH

scale./vEy ges'kk PH iSekus ij 7
ls uhps PH  eku fn•krk gSA
Acid – below 7/vEy & 7 ls
uhp
Salt – 7/ued & 7
Base – above 7/{kkj & 7 ls
Åij
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36. (a) Narasimhavarman was a

powerful ruler of the

Pallava dynasty. He was

also known as "Mamalla"

(meaning "Great Wrestler"),

and the town was named

Mamallapuram in his

honour. He is credited with

commissioning the famous

rock-cut temples,

monolithic rathas

(chariots), and cave

temples in

Mahabalipuram.The Shore

Temple, Pancha Rathas,

and Descent of the Ganga

(Arjuna’s Penance) are

some of the most iconic

structures built during his

reign. He defeated the

Chalukya king Pulakesin II

and expanded the Pallava

Empire./ujflagoeZu iYyo oa'k dk
,d 'kfDr'kkyh 'kkld FkkA mUgsa "ekeYy"

(ftldk vFkZ gS "egku igyoku") ds
:i esa Hkh tkuk tkrk Fkk] vkSj muds
lEeku esa 'kgj dk uke ekeYyiqje j•k
x;k FkkA mUgsa egkcyhiqje esa çfl¼
jkWd&dV eafnjksa] v•aM jFkksa (jFkksa) vkSj
xqiQk eafnjksa dk fuekZ.k djus dk Js;
fn;k tkrk gSA 'kksj eafnj] iap jFk vkSj
xaxk vorj.k (vtZqu dh riL;k) muds
'kkludky ds nkSjku fufeZr dqN lcls
çfrf"Br lajpuk,¡ gSaA mUgksaus pkyqD; jktk
iqydsf'ku f}rh; dks gjk;k vkSj iYyo
lkezkT; dk foLrkj fd;kA

37. (b) Western Disturbances are

extratropical storms that

originate over the

Mediterranean Sea and

travel eastward, bringing

winter rainfall and snowfall

to northern India,

Pakistan, and Nepal. They

are crucial for rabbi crops

(like wheat) in India and

also contribute to snowfall

in the Himalayan region,

which helps maintain the

water supply in rivers like

the Indus and Ganga./

if'peh fo{kksHk Hkweè; lkxj ls mRiUu
gksus okys m".kdfVca/h; rwiQku gSa vkSj
iwoZ dh vksj c<+rs gSa] ftlls mÙkjh
Hkkjr] ikfdLrku vkSj usiky esa lfnZ;ksa
dh ckfj'k vkSj ciQZckjh gksrh gSA os
Hkkjr esa jch iQlyksa (tSls xsgwa) ds fy,
egRoiw.kZ gSa vkSj fgeky;h {ks=k esa ciQZckjh
esa Hkh ;ksxnku djrs gSa] ftlls fla/q vkSj
xaxk tSlh ufn;ksa esa ikuh dh vkiwfrZ
cuk, j•us esa enn feyrh gS

38. (a) Lord Louis Mountbatten

was the first Governor-

General of independent

India from 15 August 1947

to 21 June 1948. He was

the last Viceroy of British

India (March 1947 – August

1947) and played a key role

in India's partition and

independence. After

Mountbatten, C.

Rajagopal-achari  became

the first and last Indian

Governor-General of India

(1948–1950), before the

position was abolished

when India became a

Republic on 26 January

1950./ykWMZ yqbZl ekmaVcsVu 15
vxLr 1947 ls 21 twu 1948 rd
Lora=k Hkkjr ds igys xouZj&tujy FksA
os fczfV'k Hkkjr ds vafre ok;ljk;
(ekpZ 1947 & vxLr 1947) Fks vkSj
mUgksaus Hkkjr ds foHkktu vkSj Lora=krk
esa egRoiw.kZ Hkwfedk fuHkkbZ FkhA ekmaVcsVu
ds ckn] lh- jktxksikykpkjh Hkkjr ds
igys vkSj vafre Hkkjrh; xouZj&tujy
(1948&1950) cus] blls igys fd
26 tuojh 1950 dks Hkkjr ds x.kra=k
cuus ij ;g in lekIr dj fn;k x;kA

39. (a) The Consumer Price Index

(CPI), which is used as an

inflation index in India, is

calculated and released by

the National Statistical

Office (NSO) under the

Ministry of Statistics and

Programme Implementa-

tion (MoSPI). It is used for

inflation targeting by the

Reserve Bank of India (RBI)

and for policymaking by the

government./miHkksDrk ewY;
lwpdkad (CPI)] ftldk mi;ksx Hkkjr
esa eqækLiQhfr lwpdkad ds :i esa fd;k
tkrk gS] dh x.kuk vkSj çdk'ku lkaf[;dh
vkSj dk;ZØe dk;kZUo;u ea=kky;
(MoSPI) ds rgr jk"Vªh; lkaf[;dh
dk;kZy; (NSO) }kjk fd;k tkrk gSA
bldk mi;ksx Hkkjrh; fjtoZ cSad (RBI)

}kjk eqækLiQhfr y{;hdj.k vkSj ljdkj
}kjk uhfr fu/kZj.k ds fy, fd;k tkrk
gSA

40. (b) The Battle of Karnal was

fought on 24 February

1739 between the Mughal

Empire led by Emperor

Muhammad Shah and the

Persian forces led by Nadir

Shah. After the victory,

Nadir Shah marched to

Delhi, where he looted

immense wealth, including

the famous Kohinoor

diamond and Peacock

Throne. This battle marked

the decline of the Mughal

Empire and exposed its

weaknesses to future

invaders like the Afghans

(Ahmad Shah Abdali) and

the British./djuky dh yM+kbZ 24
iQjojh 1739 dks lezkV eqgEen 'kkg
ds usr̀Ro okys eqxy lkezkT; vkSj ukfnj
'kkg ds usr̀Ro okyh iQkjlh lsuk ds
chp yM+h xbZ FkhA thr ds ckn] ukfnj
'kkg us fnYyh dh vksj dwp fd;k] tgk¡
mlus çfl¼ dksfguwj ghjk vkSj e;wj
flagklu lfgr vikj /u&laifÙk ywVhA
bl yM+kbZ us eqxy lkezkT; ds iru dks
fpfÉr fd;k vkSj viQxkuksa (vgen
'kkg vCnkyh) vkSj vaxzstksa tSls Hkfo";
ds vkØe.kdkfj;ksa ds lkeus bldh
detksfj;ksa dks mtkxj fd;kA
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41. (b) Scurvy is a disease caused

by a deficiency of Vitamin

C (Ascorbic Acid). Sources

of Vitamin C:/LdohZ foVkfeu lh
(,LdkWfcZd ,flM) dh deh ls gksus
okyh chekjh gSA foVkfeu lh ds lzksr%

• Citrus fruits (oranges,

lemons, limes)/•êðs iQy (larjs]
uhacw] uhcw)

• Guava, strawberries, kiwi,

/ve:n] LVªkWcsjh] dhoh]
42. (c) River Tungabhadra is a

tributary of the Krishna

River. Indravati, Penganga

& Wainganga are

tributaries of Godavari./

rqaxHkæk unh Ñ".kk unh dh lgk;d
unh gSA baækorh] isaxaxk vkSj oSuxaxk xksnkojh
dh lgk;d ufn;k¡ gSaA

43. (d) Krishnadeva Raya (ruled

1509–1529) was the

greatest ruler of the

Vijayanagara Empire. He

was a patron of literature,

arts, and culture, which

earned him the title

"Andhra Bhoja" (meaning a

great patron like King

Bhoja of ancient India). He

encouraged Telugu,

Sanskrit, Tamil, and

Kannada literature./Ñ".knso
jk; ('kkludky 1509&1529)
fot;uxj lkezkT; ds lcls egku 'kkld
FksA os lkfgR;] dyk vkSj laLÑfr ds
laj{kd Fks] ftlds dkj.k mUgsa "vka/z
Hkkst" (ftldk vFkZ gS çkphu Hkkjr ds
jktk Hkkst tSlk egku laj{kd) dh
mikf/ feyhA mUgksaus rsyqxq] laLÑr] rfey
vkSj dUuM+ lkfgR; dks çksRlkfgr fd;kA

44. (a) The World Bank and the

International Monetary

Fund (IMF) are known as

"Bretton Woods

Institutions" because they

were established in July

1944 at the Bretton Woods

Conference held in New

Hampshire, USA.

International Monetary

Fund (IMF): -Provides

financial assistance to

countries facing balance of

payments crises. World

Bank (WB): -Provides long-

term loans for

infrastructure, poverty

reduction, and development

projects and Supports

developing countries in

economic growth./fo'o cSad vkSj
varjkZ"Vªh; eqæk dks"k (IMF) dks "czsVu
oqM~l laLFkku" ds :i esa tkuk tkrk gS
D;ksafd budh LFkkiuk tqykbZ 1944 esa U;w
gSEi'kk;j] ;w,l, esa vk;ksftr czsVu oqM~l
lEesyu esa dh xbZ FkhA varjkZ"Vªh; eqæk
dks"k (IMF)% & Hkqxrku larqyu ladV dk
lkeuk djus okys ns'kksa dks foÙkh; lgk;rk
çnku djrk gSA fo'o cSad (WB)% &
cqfu;knh <kaps] xjhch esa deh vkSj fodkl
ifj;kstukvksa ds fy, nh?kZdkfyd ½.k
çnku djrk gS vkSj fodkl'khy ns'kksa dks
vkfFkZd fodkl esa lgk;rk djrk gSA

45. (b) The Gangetic river dolphin

is commonly known as

"Susu" due to the sound it

makes while breathing. It

is a freshwater dolphin

found in the Ganga,

Brahmaputra, and their

tributaries in India, Nepal,

and Bangladesh. It is blind,

relying on echolocation to

navigate and hunt./xaxk unh
dh MkWfYiQu dks vkerkSj ij lkal ysrs
le; gksus okyh vkokt ds dkj.k "lqlq"
ds :i esa tkuk tkrk gSA ;g Hkkjr]
usiky vkSj ckaXykns'k esa xaxk] czãiq=k
vkSj mudh lgk;d ufn;ksa esa ikbZ tkus
okyh ,d ehBs ikuh dh MkWfYiQu gSA
;g va/h gksrh gS] tks usfoxsV djus vkSj
f'kdkj djus ds fy, bdksyksds'ku ij
fuHkZj djrh gSA

46. (c) Ursula von der Leyen is the

President of the European

Commission, which is the

executive branch of the

European Union (EU). She

recently met PM Modi with

a high level delegation with

the aim of securing several

deals with India in various

sectors including an India-

EU free trade agreement./

mlZqyk okWu Msj ys;su ;wjksih; vk;ksx
dh vè;{k gSa] tks ;wjksih; la?k (bZ;w)
dh dk;Zdkjh 'kk•k gSA mUgksaus gky gh
esa Hkkjr&bZ;w eqDr O;kikj le>kSrs lfgr
fofHkUu {ks=kksa esa Hkkjr ds lkFk dbZ lkSns
djus ds mís'; ls ,d mPp Lrjh;
çfrfuf/eaMy ds lkFk ih,e eksnh ls
eqykdkr dhA

47. (b) National Science Day is

celebrated in India on 28th

February every year to

commemorate the

discovery of the Raman

Effect by Sir C.V. Raman

on 28th February 1928.

C.V. Raman won the Nobel

Prize in Physics in 1930 for

this discovery. The day

aims to promote scientific

awareness and innovation

in India./Hkkjr esa gj lky 28 iQjojh
dks jk"Vªh; foKku fnol euk;k tkrk gS]
tks 28 iQjojh 1928 dks lj lh-oh- jeu
}kjk jeu çHkko dh •kst ds miy{; esa
euk;k tkrk gSA lh-oh- jeu us bl •kst
ds fy, 1930 esa HkkSfrdh esa ukscsy
iqjLdkj thrk FkkA bl fnu dk mís';
Hkkjr esa oSKkfud tkx:drk vkSj uokpkj
dks c<+kok nsuk gSA

48. (b) As a part of the Gharial

Conservation Program,

Chambal River (which

flows through Madhya

Pradesh, Rajasthan, and

Uttar Pradesh) was chosen

for releasing captive-bred

gharials. The National

Chambal Sanctuary,

established in 1979, is a

key protected area for

gharial conservation./
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?kfM+;ky laj{k.k dk;ZØe ds ,d fgLls
ds :i esa] pacy unh (tks eè; çns'k]
jktLFkku vkSj mÙkj çns'k ls gksdj cgrh
gS) dks canh&uLy ds ?kfM+;kyksa dks
NksM+us ds fy, pquk x;k FkkA 1979 esa
LFkkfir jk"Vªh; pacy vH;kj.; ?kfM+;ky
laj{k.k ds fy, ,d çeq• lajf{kr {ks=k
gSA

49. (c) Veteran actor Mithun

Chakraborty was honoured

with the Dadasaheb Phalke

Award at the 70th National

Film Awards ceremony held

on October 8, 2024, at

Vigyan Bhavan, New Delhi,

for his lifetime contribution

towards Indian cinema./

vuqHkoh vfHkusrk feFkqu pØorhZ dks
Hkkjrh; flusek esa muds vkthou ;ksxnku
ds fy, 8 vDVwcj] 2024 dks foKku
Hkou] ubZ fnYyh esa vk;ksftr 70osa
jk"Vªh; fiQYe iqjLdkj lekjksg esa nknk
lkgc iQkYds iqjLdkj ls lEekfur fd;k
x;kA

50. (a) Salima Tete is the captain

of India’s female hockey

team which became world

champion just recently at

the event held at Rajgir./

lyhek VsVs Hkkjr dh efgyk gkWdh Vhe
dh dIrku gSa tks gky gh esa jktxhj esa
vk;ksftr dk;ZØe esa fo'o pkSafi;u
cuhA

gSAgS C - QUANTITATIVE APTITUDE

51.(c)

Q

T

O

5
6cm

P

Ratio of circumference = ST
: PQ = : 3 : 4

 Circumference  Radius
OST  OPQ

 OS : OP = 3 : 4
SP = 1 unit = 6cm
OS = 3 unit = 6 × 3 = 18cm

52. (c) ATQ,

Average speed = 
2 xy

x + y

x = 60 km/h and y is other
speed

48 = 
2  × 60  × y

60  + y

y = 40 km/h.

53. (d)

A

x
O

5

24P B

.

ATQ,
H2 = P2 + B2

OA2 = 52 + 122

OA2 = 169
OA = 13cm

54. (c) ATQ,
x = 5 (let)


5 20 5 –1

5 20 5 –1

 

 
 = 

7

3


5 2

5 – 2


 = 

7

3


7

3
 = 

7

3
 (Satasified)]

Now,

    x + 2 0 x – 1

  25 4

 100  = 10

55. (b)Price of X + Price of Y =
130.......(i)
Price of X + price of Y + 9%
of price of Y = 136.75.......(ii)
Subtracting equal (i) from (ii)


9

100
× Price of Y = 136.75 –

130 = 6.75

 Price of Y = 
100

9
× 6.75 = ̀ 75

56. (c)

30
o

A

D

CB
5

45
E

tan 30o = 
AD

ED

1

3
 = 

40

ED

ED = 40 3 m

57. (c) ATQ,

5.5% + 4.5%  = 10%

10 %  1000

1%  
1000

10
×100

100%  10000

Now,

Selling price to gain 12% =

10000 × 
112

100

= `11200

58. (b)ATQ,

8 leaps of ferret = 7 leaps of
panda

1 leaps of ferret = 
7

8
leaps of

panda

Ferret takes 9 leaps for every
8 leaps of panda

So,

= 9 × Ferret's leap : 8 ×
panda's leap

= 9 × 
7

8
 : 8 × 1

= 63 : 64

59. (a)ATQ,

(p + q)2 = p2 + q2 + 2pq

49 = 25 + 2pq

2pq = 24

Now,

(p – q)2  = p2 + q2 – 2pq

(p – q)2 = 25 – 24

(p – q)   1

As, p > q so  negative value
can be ignored, p – q = 1

60. (c) ATQ,

C.P = S.P × 
60

100

C.P
S.P

=
3
5

2

Profit percentage = 
2

3
×100

= 66.66%
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61. (a)ATQ,

M.P

C.P
=

9×10

8×10

C.P

S.P
=

10×8

11×8

2

90 
80

=

80
88

=

Now, Discount percentage =
90 – 88 = 2

= 
2

90
× 100

= 2.22%

62. (d) If a sin + b cos = 2 2a  + b

 tan = 
a

b
, cot = 

b

a

Where a,b & c are
pythogorean triplet

Now,

11 sin + 60 cos = 61

11, 60, and 61 are triplet.

=  6 6 0 ta n  + cot 

= 
11 60

660
60 11

 
  

= 
121 3600

660
600

 
  

= 3721  = 61

63. (a)

E

x

y
y

x

M

N

A

C

F

D

P

B

ATQ,

 BMN + DNM = 180o

 2x + 2y = 180o

 x + y = 90o ........(i)

Now,

MPN = 180o – (x + y)

MPN = 180o – 90o

MPN = 90o

64. (c) a3 – b3 = (a – b) (a2 + b2 + ab)

Comparing the equation
given in the question.

= 3.25 – 1.75

= 1.5

65. (b)ATQ,

Total age of 30 member = 13

× 30 = 390

Total age of 18 member = 15
× 18 = 270

Total age of remaining 12
member = 390 – 270 = 120

Average of remaining 12

member =
120

12
= 10 years

66. (a)

96

Ratul= 24

Amal = 32

4

3

Together do in 1 day = 7
units

8 days = 8 × 7 = 56 units

Remaining = 96 – 56 = 40
units

Now,

Ratul does the work in 
40

4

= 10 days

67. (b)ATQ,

60% – 40% = 1200

20%   1200

1%  
1200

20

100%  
1200

20
× 100 = 60,00

68. (c) S
1
 = 75 km/h

S
2
 = 60 km/h

Time = 12 minutes =
1

5
hours

Now,

Relative speed = S
1
 + S

2 
=

 
75

+ 60 = 135 km/h

Distance = S × t

= 135 × 
1

5
 = 27km

The distance between A and
B is 27 kilometers.

69. (d)

C DB

B

20o

In ACD,

CAD = 20o (AC = CD)

Now,

ABC = ACB (AB = AC)

ACB = 40o = ABC

In ABC

ABC + ACB + BAC =
180o

40o + 40o + BAC = 180o

BAC = 100o

Now,

BAD = BAC + CAD

= 100o + 20o = 120o

70. (a)ATQ,

S.I for 2 years = 768 – 720 =
48

S.I = for 1 years = 
48

2
 = 24

S.I for 4 years = 24 × 4 = 96

Principal = 720 – 96 = `624

71.(a) ATQ,

4%  8000

1%  2000

15%(shares)  2000 × 15%

= `30000

72.(d) The first nine odd prime
number are

3, 5, 7, 11, 13, 17, 19, 23,
29

Mean = 
127

9
 = 14.11

73.(b) Father  :  Daughter
3          :  1
 

Present age

After 10 years 2 :  1

Multiply by '2' make the
difference same between age

3 : 1

4 : 2  
1 unit = 10 years

The present age of the
daughter is 10

74.(c) ATQ,

C.P × 12 = S.P × 8

C.P

S.P
 = 

8

12

C.P

S.P
 = 

2
3 1

gain percent = 
1

2
× 100 =

50%
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75. (d)ATQ,

M.P

S.P
= 

×13

×13

10

9  = 
130

117

C.P

S.P
 = 

100

117
 = 

100

117

New M.P = 130
New Discount  = 20%

New S.P = 130 × 
80

100
 = 104

Now,

gain percentage = 
4

100
× 100

 = 4%

D-ENGLISH COMPREHENSION

76. (c) The correct spelling is

Simultaneous, which

means occurring or done at

the same time.

77. (a) The correct order is CBEAD

(C)I have missed introduces

the subject and action.

(B)My daily routine

specifies what is missed.

(E) At the workplace adds

context.

(A) A lot emphasizes the

extent.

(D) Since my retirement

provides the time frame.

78. (b) Implore (fourh djuk) means

to beg earnestly or

desperately, similar to

Beseech (çkFkZuk djuk) which

means to urgently and

fervently ask for something.

Pamper  (ykM+ djuk) refers

to indulging or spoiling

someone.

Impart (çnku djuk) means

to give or convey information

or knowledge.

Bequeath (olh;r djuk)
refers to leaving something

to someone in a will.

79. (a)Eternity (vuardky) refers to

an endless period of time or

something that lasts forever.

Longevity (nh?kkZ;q) refers to

a long duration of life or

existence.

Impurity (v'kq¼rk) means

the state of being impure or

contaminated.

Frailty (detksjh) refers to

weakness or being delicate.

80. (c) Procrastinate (VkyeVk sy
djuk) means to delay or

postpone doing tasks, often

until the last minute,

causing unnecessary stress

or leaving work unfinished.

Decline (vLohdkj djuk)
means to refuse or reduce in

quality, quantity, or

strength.

Adjourn (LFkfxr djuk) means

to temporarily suspend or

postpone a meeting or

activity.

Dwindle (?kV tkuk) means to

decrease gradually in size,

amount, or strength.

81. (d)The; a

“The doctor” is correct

because we are referring to

a specific doctor who gave

the suggestion. The definite

article “the” is used to specify

a particular person or thing.

“A pair of powered glasses”

is correct because it refers to

any pair of powered glasses,

not a specific one. The

indefinite article “a” is used

for general or non-specific

references.

82. (b)The correct spelling is

vulnerability, which means

being open to harm, danger,

or emotional hurt.

Other words are correctly

spelled:

Analysis : It means

examining something in

detail.

Progressive : It means

making gradual

advancements or impro-

vements.

Focused : It means

concentrating on a specific

task or topic.

83. (c) The sentence is describing

the qualities of “the art he

discusses.” The adjectives

“funny” and “mischievous”

are used to describe the art.

Therefore, it should be

“playful” an adjective,

which matches the structure

of the other descriptors

(“funny” and

“mischievous”).

84. (d)The verb “allow” is incorrect

because the sentence is

written in the past tense (“I

covered” and “interviewed”).

The verb “allow” should

match the past tense of the

rest of the sentence.

85. (c) to be kept

The subject, “pollution level”,

is not performing the

action; instead, it is being

acted upon (controlled by

someone/something). This

requires the passive voice.

Modal (ought to) + be + past

participle (kept)

This indicates that an action

is necessary for the subject.

86. (c) has not been and can never

be

present perfect Structure is

: “has not” + v3 (been).

87. (a)Rotund (xksy&eVksy) refers to

being round or plump in

shape, which is similar to

Corpulent (ek s V k&r ktk)
meaning having an

overweight or bulky body.

Lanky (eksVk&rktk) refers to

someone being tall and thin

in an awkward way.
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Deformed (foÑr) means

distorted in shape or form.

Plush ('kkunkj) refers to

being luxurious or richly

decorated.

88.  (c) Meticulously (cgqr lko/kuh
ls) means showing great

attention to detail and being

very careful and precise. Its

opposite is Chaotically

(vO;ofLFkr rjhds ls), which

means in a disorderly or

confused manner.

Mesmerisingly (eksgd rjhds
ls) means in a captivating

or enchanting manner.

Prudently (le>nkjh l s)
means in a way that shows

care and thought for the

future.

Serenely ('kk ar rjhds ls)
means in a calm, peaceful,

and untroubled manner.

89. (c) Reverence (vknj) means

deep respect or admiration

for someone or something.

Its opposite is Scorn (?k`.kk),

which means a feeling or

expression of contempt or

disdain.

Venerate (iwtuk) means to

regard with great respect.

Honour (lEeku) means high

respect or esteem.

Deference (lEekutud vknj)
means humble submission

and respect.

90. (a) “sneak peek” refers to a

quick or early look at

something that is not yet

fully available. In this

sentence, the salesperson

offered a preview of the

project to those who showed

interest.

91. (d) “suit you to a T” means to

suit someone perfectly or

exactly. In the given

sentence, it implies that the

new routine is an exact

match for the person’s needs

or preferences.

92. (c) “passed down” means to

transfer or transmit

something from one person

to another, often within a

group.

Passed away means to die.

Passed out means to faint

or lose consciousness.

93. (b)Active Voice Structure:

Subject + was/were + Verb
(V1 + ing) + Object + when +
clause

The author + was writing +
the novel + when the house
caught fire.

Passive Voice Structure:

Object + was/were + being +

past participle (V3) + by +

Subject + when + clause

The novel + was being

written + by the author +

when the house caught fire.

94. (a) Active Voice Structure:

Subject + Modal Verb

(should) + Base Verb (V1) +

Object

Teachers + should + cover +

all the topics in the syllabus.

Passive Voice Structure:

Object + Modal Verb (should)

+ Be + Past Participle (V3) +

By + Subject

All the topics in the syllabus

+ should + be + covered + by

teachers.

95. (d)Correct order is ACBD.

Aintroduces the topic of

temple architecture.

C provides an example of this

architecture.

B explains the popularity

and curiosity of visitors.

D describes the unique

feature of the temple.

96. (d)

97. (b)

98. (d)

99. (a)

100.(d)

ANSWER KEY

1. (d)

2. (b)

3. (c)

4. (a)

5. (d)

6. (b)

7. (b)

8. (a)

9. (c)

10. (b)

11. (b)

12. (a)

13. (a)

14. (b)

15. (a)

16. (b)

17. (d)

18. (b)

19. (a)

20. (c)

21. (c)

22. (d)

23. (b)

24. (a)

25. (c)

26. (d)

27. (a)

28. (c)

29. (b)

30. (b)

31. (a)

32. (d)

33. (c)

34. (b)

35. (d)

36. (a)

37. (b)

38. (a)

39. (a)

40. (b)

41. (b)

42. (c)

43. (d)

44. (a)

45. (b)

46. (c)

47. (b)

48. (b)

49. (c)

50. (a)

51. (c)

52. (c)

53. (d)

54. (c)

55. (b)

56. (c)

57. (c)

58. (b)

59. (a)

60. (c)

61. (a)

62. (d)

63. (a)

64. (c)

65. (b)

66. (a)

67. (b)

68. (c)

69. (d)

70. (a)

71. (a)

72. (d)

73. (b)

74. (c)

75. (d)

76. (c)

77. (a)

78. (b)

79. (a)

80. (c)

81. (d)

82. (b)

83. (c)

84. (d)

85. (c)

86. (c)

87. (a)

88. (c)

89. (c)

90. (a)

91. (d)

92. (c)

93. (b)

94. (a)

95. (d)

96. (d)

97. (b)

98. (d)

99. (a)

100.(d)


